EARAROBREBRT —5 XN—ZXBISH—F

202111878 (B) 14EHEE5H

M C2-12% C2 HSZ35L B
[®E%] 1% :300,000H  2&:90,000H  33%&:48,000M ./ 43%&:24,000M” . 53&:18,000 3
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
v e — BEE—p 133 -2-2- 8| - B (ER)
1171 8| 917520574 — i3 o= 1(3_3)1 2-2-2-1 | 39.8 1 :1_4:9) e =)
RYIRIT4 TSR B:RU—LBGIHY A NA RS
<= » (= : B — g
2 3| NTALPYTU—=R 6 5_0:_{ 1(733t; 6-5-3-3 | 39.4 9 (4_132) ;F;ggi(gé)
RiRU—LVp—Z— H:vI3HhE2 BT 7—L4A
< < i3] : -9-8- - KEER (K8
3 4| FVIELTY 44 Wi 1.(343).9 9-9-8-8 | 39.5 2 (ﬁo) jﬁ;& (1£23)
R:ZAMOVIUST—Y B:OVII—FATLA #HBEI7—L
', R s 3 | REES 1:33.9 7-7-7-5 |39.9| - 8 516 | B3 (£E)
4|8|9|F¥v—F 5.0 F) Ciy |
R:EYFOVY BIRN—VISRI— AR—=LT77—La—RL—Y 3V
— w 4 3 | HPEA 1:34.0 4-3-4-4 | 40.3| — 5 401 | WIEH (EE)
5[1]1|¥=74v7 5.0 ) Gy |BEEE
R:iTJUA=Y B UIvYRRL Ea= T |
50,9 % 3 | RBET 1:34.3 3-4-5-6 | 40.6 | — 3 461 | NBEX (EE)
6155 ¥TIWTFaD 54.0 a1/ 10 ;fttpg
RYIRI( TSR B:FUSFP /7= NYERTP—L
S3)TsN) 4 4 = 1:34.3 8-8-9-9 [39.9| — 7 450 |REM (E8)
7 ) |V OSIYNTVY—0O 56.0 U15) ¢5) | TESRIR—LT (VTR ()
R:F4=FAVNIT N B:AFSIYRU—R FoIEFIRXT7—L
=Ry 4 4 | BWRS 1:34.5 10-10-10-10{ 39.5 | — 10 10 | FEBF (E8)
8 6| F—=HUX 5.0 (/4) (10) | SEEE B
RiFRF B:XIOFPUINL BIET7—L
Iy — o4 | BlER 1:34.6 1-1-1-2 | 41.3| - 4 | 464 | KBAE ()
9|7|7|N\VPIHBI—= 56.0 ) (o) |BRE B
Rib—trS5— B:ATbvTIAL—=Y e
_ s 3 | IIEE 1:34.9 5-6-6-7 | 41.0| — 6 | 441 |FEARYT (EE)
10/ 8| 10| XA 54.0 (1172 (5) | MBS
RibotfO—ILR B:7A4F0VE21— LIRS
@ 11— —BERIEI
13—7F— 7,8,5,1,10,3,9,2,4,6
20— — 7,8,1,5,3,10,9,2,4,6
30—7F— 7.8,3,1,5,10,9,4,2,6
4A0—F— 8,7,3,1,9,5,10,4,2,6
0 ILRE
BB 8 150/ JA R 3-8 790 & 3-7 3,230 3ER 3-4-8 2,140
B B 8 1004 4-8 140M o 18 3-8 3,930 3Es 8-3-4 10,810M4
3 600M 3-4 1,780 oS- 1 8-3 3,860
4 110/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




